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10may11 tilt sensor az swings PITCH — (cO+clxaz from fit)
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Data—(cO+cT*az from fit) clockwise spin h
Data—(cO+c1xaz from fit) CCW spin i

- fit residuals: 0.006 deg -

0.05— -

0.00 7w

| Pitch= 0.2623 + 0.0000xza +3.42e—06xaz +
za: 10 0.0089x*sin( az — 30.9) +

B 0.0189+sin(30z — 293.5

005 Pitch= 0.2673 + 0.0000%xza —8.39e—06%*az + —
za: 10 0.0031*sin( az — 107.9) +

i 0.0186%*sin(3az — 305.2 7
- Pitch= 5.2189 + 0.0000xza +2.95e—05%az + *

)

| za: 15 0.0083*sin( az — 24.5) + |
0.0187+sin(3az — 302.8)
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10may11 tilt sensor az swings Roll — (cO+cl*az from fit)
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L fit residuals: 0.007 deg _
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,OH =-0.1962 +\0.00004£a +9.38e—06*az\\+ ‘“ N\
7 za: 10 0.0042xsin(\az 20.63 + \ ’,
B 0.0421*sin (3 W24‘5 NS 7

005~ Roll ==0.1976 + O\WPF00xza +1.06e—05xaz + -
za: 10 0.0035%sin( az — 221.4) +

i 0.0423xsin(3az — 124.8

- Roll ==0.1065 + 0.0000xza +3.17e—06xaz + f

za: 15 0.0041*sin( az — 218.6) +

0.0395%sin(3az — 116.1)
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